	1. 14 + 5 =
	8. 11 + 8 =

	2. 27 + 2 = 
	9. 31 + 7 = 

	3. 42 + 5 =
	10. 23 + 2 =

	4. 32 + 6 = 
	11. 65 + 4 =

	5. 41 + 4 = 
	12. 71 + 3 =

	6. 62 + 3 =
	13. 55 + 3 =

	7. 52 + 7 = 
	14. 91 + 4 = 


Use base ten. 
1. Make the 2-digit number with base ten. 
2. Add the ones. 
3. What is the total?



Use base ten. 
1. Make the 2-digit number with base ten. 
2. Add the ones. 
3. What is the total?

	1. 14 + 5 =
	8. 11 + 8 =

	2. 27 + 2 = 
	9. 31 + 7 = 

	3. 42 + 5 =
	10. 23 + 2 =

	4. 32 + 6 = 
	11. 65 + 4 =

	5. 41 + 4 = 
	12. 71 + 3 =

	6. 62 + 3 =
	13. 55 + 3 =

	7. 52 + 7 = 
	14. 91 + 4 = 



